East Ayrshire Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 3 - Kilmarnock West and Crosshouse

5,888

4

1,178

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
James ADAMS	Scottish Conservative and Unionist	1,297
Elizabeth Anne BROWN	Scottish Green Party	228
Lillian JONES	Scottish Labour Party	1,662
lain LINTON	Scottish National Party (SNP)	1,168
Frank MCNIFF	Independent	369
Guy NJALI BOLA	Alba Party for independence	71
Douglas REID	Scottish National Party (SNP)	1,093
	Total	5,888

Candidate James ADAMS Elected with 1,297 votes, being in excess of the quota of 1,178 Candidate Lillian JONES Elected with 1,662 votes, being in excess of the quota of 1,178

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Lillian JONES

484.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elizabeth Anne BROWN	245	0.29121	71.34645
Transfer to lain LINTON	178	0.29121	51.83538
Transfer to Frank MCNIFF	364	0.29121	106.00044
Transfer to Guy NJALI BOLA	35	0.29121	10.19235
Transfer to Douglas REID	170	0.29121	49.50570
No further preference	670	0.29121	195.11070
Not transferred due to rounding			0.00898
	Total		484.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of James ADAMS

119.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elizabeth Anne BROWN	100	0.09175	9.17500
Transfer to Frank MCNIFF	455	0.09175	41.74625
Transfer to Guy NJALI BOLA	19	0.09175	1.74325
Transfer to Douglas REID	74	0.09175	6.78950
No further preference	649	0.09175	59.54575
Not transferred due to rounding			0.00025
	Total		119.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Iain LINTON

41.83538

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Elizabeth Anne BROWN	99	0.03429	3.39471
Transfer to Frank MCNIFF	31	0.03429	1.06299
Transfer to Douglas REID	939	0.03429	32.19831
Transfer to Elizabeth Anne BROWN	26	0.00998	0.25948
Transfer to Frank MCNIFF	5	0.00998	0.04990
Transfer to Douglas REID	96	0.00998	0.95808
No further preference	88	0.03429	3.01752
No further preference	45	0.00998	0.44910
Not transferred due to rounding			0.00822
	Total		41.83538